
 
If 𝒙 ≥ 𝟎 then: 

𝟐

√𝝅
(∫ 𝒆−𝒕𝟐

𝒙

𝟎

𝒅𝒕)

𝟐

+ ∫ 𝒆−𝒕𝟐
𝟐𝒙

𝟎

𝒅𝒕 ≥ 𝟐 ∫ 𝒆−𝒕𝟐
𝒙

𝟎

𝒅𝒕 

Proposed by Daniel Sitaru – Romania  

Solution 1 by Ahmed Salem-Tunisia 

Let 𝑸(𝒙) =
𝟏

√𝟐𝝅
∫ 𝒆−

𝒗𝟐

𝟐
∞

𝒙
𝒅𝒗 

Prob. that standard Gaussian RVX exceeds 𝒙 

∫ 𝒆−𝒕𝟐
𝒙

𝟎

𝒅𝒕 =
𝒖=√𝟐𝒕

√𝟐𝝅
𝟏

√𝟐𝝅
∫ 𝒆−

𝒖𝟐

𝟐

√𝟐𝒙

𝟎

𝟏

√𝟐
𝒅𝒖 = √𝝅

𝟏

√𝟐𝝅
∫ 𝒆−

𝒖𝟐

𝟐

√𝟐𝒙

𝟎

𝒅𝒖 

= √𝝅 (
𝟏

√𝟐𝝅
∫ 𝒆−

𝒖𝟐

𝟐

∞

𝟎

𝒅𝒖 −
𝟏

√𝟐𝝅
∫ 𝒆−

𝒖𝟐

𝟐

∞

√𝟐𝒙

𝒅𝒖) = √𝝅 (
𝟏

𝟐
− 𝑸(√𝟐𝒙)) 

The given inequality is equivalent to  

𝟐

√𝝅
⋅ 𝝅 (

𝟏

𝟐
− 𝑸(√𝟐𝒙))

𝟐

+ √𝝅 (
𝟏

𝟐
− 𝑸(𝟐√𝟐𝒙)) ≥ 𝟐√𝝅 (

𝟏

𝟐
− 𝑸(√𝟐𝒙)) 

⇒
√𝝅

𝟐
+ 𝟐√𝝅𝑸𝟐(√𝟐𝒙) − 𝟐√𝝅𝑸(√𝟐𝒙) +

√𝝅

𝟐
− √𝝅𝑸(𝟐√𝟐𝒙) ≥ √𝝅 − 𝟐√𝝅𝑸(√𝟐𝒙) 

⇒ 𝟐𝑸𝟐(√𝟐𝒙) ≥ 𝑸(𝟐√𝟐𝒙) 

𝑸(𝒙) =
𝟏

𝟐𝝅
∫ ∫ 𝒆−

𝟏
𝟐

(𝒖𝟐+𝒗𝟐) 
∞

−∞

∞

𝒙

𝒅𝒖𝒅𝒗 =
𝟏

𝝅
∫ ∫ −𝒅

∞

𝒙 𝐬𝐞𝐜 𝝓

𝒆−
𝟏
𝟐

𝒓𝟐

𝝅
𝟐

𝟎

𝒅𝝓 = 

=
𝟏

𝝅
∫ 𝒆−

𝟏
𝟐

𝒙𝟐 𝐬𝐞𝐜𝟐 𝝓

𝝅
𝟐

𝟎

𝒅𝝓 =
𝝓→

𝝅
𝟐

−𝝓 𝟏

𝝅
∫ 𝒆

−
𝒙𝟐

𝟐 𝐬𝐢𝐧𝟐 𝝓

𝝅
𝟐

𝟎

𝒅𝝓 

(𝟏 − 𝟐𝑸(𝒙))
𝟐

=
𝟏

𝟐𝝅
∫ ∫ 𝒆−

𝟏
𝟐

(𝒖𝟐+𝒗𝟐)
𝒙

𝒙

𝒙

−𝒙

𝒅𝒖 𝒅𝒗 =
𝟒

𝝅
∫ ∫ −𝒅𝒆−

𝟏
𝟐

𝒓𝟐
𝒙 𝐬𝐞𝐜 𝝓

𝟎

𝝅
𝟒

𝟎

𝒅𝝓 

=
𝟒

𝝅
∫ (𝟏 − 𝒆−

𝟏
𝟐

𝒙𝟐 𝐬𝐞𝐜𝟐 𝝓)

𝝅
𝟒

𝟎

𝒅𝝓 = 𝟏 − 𝟒𝑸(𝒙) + 𝟒𝑸𝟐(𝒙) 

⇒ 𝑸𝟐(𝒙) = 𝑸(𝒙) −
𝟏

𝝅
∫ 𝒆−

𝟏
𝟐

𝒙𝟐 𝐬𝐞𝐜𝟐 𝝓

𝝅
𝟒

𝟎

=
𝟏

𝝅
∫ 𝒆−

𝟏
𝟐

𝒙𝟐 𝐬𝐞𝐜𝟐 𝝓

𝝅
𝟐

𝝅
𝟒

𝒅𝝓 =
𝝓→

𝝅
𝟐

−𝝓 𝟏

𝟐
∫ 𝒆

−
𝒙𝟐

𝟐 𝐬𝐢𝐧𝟐 𝝓

𝝅
𝟒

𝟎

𝒅𝝓 



 

𝟐𝑸𝟐(√𝟐𝒙) =
𝟐

𝝅
∫ 𝒆

−
𝒙𝟐

𝐬𝐢𝐧 𝝓

𝝅
𝟒

𝟎

𝒅𝝓 

𝑸(𝟐√𝟐𝒙) =
𝟏

𝝅
∫ 𝒆−

𝟒𝒙𝟐

𝐬𝐢𝐧 𝑩

𝝅
𝟐

𝟎

𝒅𝑩 =
𝝓=

𝑩
𝟐 𝟐

𝝅
∫ 𝒆

−
𝟒𝒙𝟐

𝐬𝐢𝐧𝟐(𝟐𝝓)

𝝅
𝟒

𝟎

𝒅𝝓 

𝟐𝑸𝟐(√𝟐𝒙) − 𝑸(𝟐√𝟐𝒙) =
𝟐

𝝅
∫ (𝒆

−
𝒙𝟐

𝐬𝐢𝐧𝟐 𝝓 − 𝒆
−

𝟒𝒙𝟐

𝐬𝐢𝐧𝟐(𝟐𝝓))

𝝅
𝟒

𝟎

𝒅𝝓 

For 𝝓 ∈ (𝟎,
𝝅

𝟒
]: 

𝟒 𝐬𝐢𝐧𝟐 𝝓 > 𝟒 𝐬𝐢𝐧𝟐 𝝓 𝐜𝐨𝐬𝟐 𝝓 = 𝐬𝐢𝐧𝟐 𝟐𝝓 ⇒
𝟒

𝐬𝐢𝐧𝟐 𝟐𝝓
>

𝟏

𝐬𝐢𝐧𝟐 𝝓
⇒ −

𝒙𝟐

𝐬𝐢𝐧𝟐 𝝓
> −

𝟒𝒙𝟐

𝐬𝐢𝐧𝟐 𝟐𝝓
⇒ 

⇒ 𝒆
−

𝒙𝟐

𝐬𝐢𝐧𝟐 𝝓 > 𝒆
−

𝟒𝒙𝟐

𝐬𝐢𝐧𝟐(𝟐𝝓) 

⇒ 𝟐𝑸𝟐(√𝟐𝒙) ≥ 𝑸(𝟐√𝟐𝒙),
𝟐

√𝝅
(∫ 𝒆−𝒕𝟐

𝒅𝒕
𝒙

𝟎

)

𝟐

+ ∫ 𝒆 − 𝒕𝟐 𝒅𝒕
𝟐𝒙

𝟎

≥ 𝟐 ∫ 𝒆−𝒕𝟐
𝒙

𝟎

𝒅𝒕 

Solution 2 by Djamel Arrouche-France 

2

√𝜋
(∫ 𝒆−𝒕𝟐

𝒅𝒕
𝒙

𝟎
)

𝟐
+ ∫ 𝒆−𝒕𝟐𝟐𝒙

𝟎
𝒅𝒕 ≥ 𝟐 ∫ 𝒆−𝒕𝟐𝒙

𝟎
 … E 

𝐞𝐫𝐟(𝒚) =
𝟐

√𝝅
∫ 𝒆−𝒕𝟐

𝒙

𝟎

𝒅𝒕 

𝑬 ⇔ 𝐞𝐫𝐟𝟐(𝒙) + 𝐞𝐫𝐟(𝟐𝒙) ≥ 𝟐 𝐞𝐫𝐟(𝒙) 

Proposition ∀(𝒙, 𝒚) ∈ [𝟎, ∞[𝟐 

𝐞𝐫𝐟(𝒙) 𝐞𝐫𝐟(𝒚) + 𝐞𝐫𝐟(𝒙 + 𝒚) ≥ 𝐞𝐫𝐟(𝒙) + 𝐞𝐫𝐟(𝒚) 

Let 𝒚 ∈ ℝ+ ∀𝒙 ≥ 𝟎 

𝒇𝒚(𝒙) = 𝐞𝐫𝐟(𝒙) 𝐞𝐫𝐟(𝒚) + 𝐞𝐫𝐟(𝒙 + 𝒚) − 𝐞𝐫𝐟(𝒙) − 𝐞𝐫𝐟(𝒚) 

⇒ 𝒇𝒚
′ (𝒙) =

𝟐

√𝝅 
(𝒆−𝒙𝟐

𝐞𝐫𝐟(𝒚) + 𝒆−(𝒙+𝒚)𝟐
− 𝒆−𝒙𝟐

) 

⇔
√𝝅

𝟐
𝒆−𝒙𝟐

𝒇′(𝒙) = 𝐞𝐫𝐟(𝒚) + 𝒆−𝒚𝟐−𝟐𝒙𝒚 − 𝟏 

𝒇𝒚
′ (𝒙) ≥ 𝟎 ⇔ 𝒆−𝒚𝟐−𝟐𝒙𝒚 ≥ 𝟏 − 𝐞𝐫𝐟(𝒚) ⇒ 𝒙 ≤

𝟏

−𝟐𝒚
(𝐥𝐧(𝟏 − 𝐞𝐫𝐟(𝒚)) + 𝒚) = 𝒂𝒚 

𝟏 − 𝐞𝐫𝐟(𝒚) =
𝟐

√𝝅
∫ 𝒆−𝒕𝟐

∞

𝒚

𝒅𝒕; 𝒕 = 𝒚 + 𝒛 ⇒
𝟐

√𝝅
𝒆−𝒚𝟐

∫ 𝒆−𝒛𝟐−𝒚𝒛
∞

𝟎

𝒅𝒛 ≤ 𝒆−𝒚𝟐
  



 

𝒂𝒚 ≥
𝟏

−𝟐𝒚
(−𝟐𝒙 + 𝒚) =

𝟏

𝟐
⇒ 𝒂𝒚 ∈ [𝟎, +∞[  

𝒇𝒚(𝒙) ≤ 𝒇(𝒂𝒚) 

⇒ 𝒇𝒚(𝒙) = 𝐦𝐢𝐧 (𝒇𝒚(𝟎), 𝐥𝐢𝐦
𝒙→∞

𝒇𝒚(𝒙)) ⇒ 𝒇𝒚(𝟎) = 𝟎 

𝐥𝐢𝐦
𝒚→∞

𝒇𝒚(𝒙) = 𝐞𝐫𝐟(𝒚) + 𝟏 − 𝟏 − 𝐞𝐫𝐟(𝒚) = 𝟎 

𝒇𝒚(𝒙) ≥ 𝟎 ⇒ 𝒇𝒚(𝒙) ≥ 𝟎; ∀𝒙 ∈ [𝟎, ∞[  

⇒ since 𝒚 is arbitrary ⇒ ∀(𝒙, 𝒚) ∈ ℝ+
𝟐  

𝐞𝐫𝐟(𝒙) 𝐞𝐫𝐟(𝒚) + 𝐞𝐫𝐟(𝒙 + 𝒚) ≥ 𝐞𝐫𝐟(𝒙) + 𝐞𝐫𝐟(𝒚) 

𝒄 = 𝒚 ⇒ 𝐞𝐫𝐟𝟐(𝒙) + 𝐞𝐫𝐟(𝟐𝒙) ≥ 𝟐 𝐞𝐫𝐟(𝒙) 

 


